sibin
o Sib SYU - 2 SW, - (il s o - 0838,9 olSiunl - wglos GLLS

& 3>l - Jgl @by - 45 SW, - Ssblawl 9 Vgl g - (8l (a3 VLl

42 SW, - (supe Jloois gl - SgS Ulp> gblas - Lyl ol S5

329 SW, - 18 olylpx i - 5,LaS,lel @ 0aew i - 03l Jlo> ULLS

4 2>y - 2 adub - Ve VloisLw - 24 SW, - Gugi> wilxaoS ULLS - suye SulS - Log> wad Ulawo
1292 SM, - Gowi 9 Juadl azgS o - 5ab @) 03 - (sisy b 9)00 51 VL

4 aiub - 8 SV - (s 0Ll i - (sdloots S8 wLLs

102 a>lg - Jgl asds - (89 gosizen - audslo pg> asly

948 SV, - ol oy o G - Ol o Jy 51 VL - s 538> UL

- 182 SW - Lgapr VUL (i - 0l liw wbLs

595 U (5389 b - ol sy Lgix &lo - Ginls Obgil 9 53S0 Ul cux gblas

66 S\, - 0,0 axgS - 9,10 Sl iz - 5 wed Uliso

127 o)louis - (10, ) wsivo> plol Uliwlow waoww @ - 03l3)lo> ol Hlpx 51 s - 5,0LuS Hlgly

piy b -335 SV - 235l azeS i - Sigy Olase 51 VL - (silpasl (sd,il

gl @by - 424 SV, - pgaw 551015 Giuw - 551020 ULl - sl ULl

2 @i - 49 SM, - 53Ul UL 5l as - ilalS @l el oLl - adslo pgs asls - wlygs

4 b -10 axlg - 32 SMy - pdd 3w A28 Y - swmwlogb OLLS - ulyps

pow Qb (166 SW ol 9 gide G cosilallb OLLs

5 SW, - pwsb Oloasbw - yugb agS - Uldsac Uliw)low S99, - o B cabol Hloly - VULST S 00
16, - ,lpr @ 0uww) = sugix Ay VUL - Gw)liilyps

4 qib -2 SW, - slons SoMd L - Olosls Lleb = Uné Srpis

So SW - sdlo axsS - o,lw VU oS, - wile Ulase 5l VL - (sloos Gauo

102 a>lg -167 SV, - pied Oliwy - ul)lawl oLl

13,9 oM Oliwlow - 595 bl OLLs - (silpanl (58l oI35

sl @b - slocw Sypds - Oliwgs OLLS - S,8U spds Sypds - Sl upd 0Ll

0b)lio axsS L = > Ul 5l 5 Gl - Gsusix 5,18 VLl

2998, - Gyl ol osde Olawe 5l ey - (sloas (w08 ,loly - cobasyy

3aab - gl oloislu -1268M, - (pgs ) wibes 0Ll - 218 Ol - sUT wslew

Oolew ilsg,ls (Soy9) - slase Syio 30 - gisbl (sils WLl

s 9> el - Sy SW, - Ol Oloasluw = ST gy @S Giuw - Ly g sl 0Ll - (slosis @aux0
1058 SW, - Gudbl 5Ly i - gpa ollpx - adslo Jgl asls 51 asy - 0l liw OLls - Olgs

265 SW, - 03uul dupn UL - coing Ulawe - (sl aupw Ol

SWeo axsS Slpwl - swjyles> LS - [aoMo Wbl - Sig Ul

S SW, - sl azgS i - sabao Hlely - bl g3 oy 5l YL - (o 5,18 Obls

1 aib - 30 SW, - S)lieo axgS - wswlle aupi 0Ll - Sslil Ulas = wad Vliwyp i

10 SV = e @S - (qugixr 5la5) Saps OLLS - S39S Olp> ol e W 0wy - L3l lsly

Jol @il - 25, - Ol a=gS i - wlsi Ji 9 0539, Gw ~ () oo plol WLL>
23515 - Jgl aib -133 SY, - pligs ol 5l 3s - ool uidloo GLLS - lapds Gliwo
2 aiubo- 33 S, - Sl woyd 9 Solil vbls Jolb 3> - sumgi Ulls

8y A>lg - 4 A -340 SW, -y ISy OlaisLu - OlosLi gyio (Soyg, - Sall bl
£95 Qb (1637 SWy (a3 ooy U 0wy coobld 1 Vb cosdlonis sUlsol UL

237 SW, - edbi Oloasbuw - 51l olyle= 9 ¢5,3L oLS 15 ow = S i,

Jil s 60 Olousluw - Qi) Ax9S Uins = 9540 (surE (8293 = Vlsis (5539 Lar = wswsg Ullydl Ll

S SWy ¢ obslunly 0l i« plol ,B5L @ sy ¢ soild Wbl

0bsg,> azgS i - Ulaupd OLLs - oSolil ubls

63 SW, - o Sib i - osune il 4 0wy - (Seaps OLLS - SaliT wbls

4 a>ly Jgl b - 17 SW- o 8p0 ULy Olaislu - Sauiipe azeS - rpailul Oliw,laws Soms, - 90 o il 5l a2 - (sizypb ULLS
£95 Wb - 7 a>lg - 8 SMy - (58, S5l 0 azgS - Hlug> OLLS - (swbld Vlao

2as,b- 1798V y91 ol s & Jgl - liogs Ol - 5UT s3U

Jol il - SudS )4 Oloasbuw - a3l a=gS i - (1jg) wsdsrollwl Wl OLLs - Olhps

7_\>|3 -4 q_\ub -186 LSU.J - §)>U 9 JLas [Srv j)gL.i'JS )|91._v

Sl 55,0 U
Ugb M|
ol ol
sl oilo,s
Lol 05los
G Ol o&ko,>
gy 0Kloys
Soups 0loy>
Ol 0Kk,
[STIVASY] olSJLo_,J
Ol 0Kiloys
2l olo,)s
shai ,lpr aazs oKilkoy>
5,0LiS waazi 0Kilo,s
p> pl> 05k,
S Ayg 0Siko)>
Slaoly Gl iS5 0ile>
SHuMS Gl 53> o&lo,s
cl 5iSs oloys
Sl S5 0lSke,s
B g i S 3l 63 0Ske s
Los o&iloys
Wl 0oy
Lolw o&5lo,s
15,9 coMw 0Kilo,s
sloow oilo,s
iz b, Sie) Wl oKiloys
o 1S9y Gl olSilo s
il olw S, il 0lSilko,>
Adgiuw Sj9) Blod olKilo,>
Ul Gaos S50, Gl oSl
ad3Lo S50, Wl oiloy>
(b)) ol 59, Ulows olSilo s
<SS plrps dp 0Silo,>
B 0Kl
wwlle 0k,
Olosls supiis (swogoac 0lSlo,>
23,99 0lSiko)s
K Az olKiloys
Sl 0lo s
sl o0 05ko,s
Olypo oSiko,>
Lpo oKilo,s
5k oloys
wlas oloys
LBk oKiloys
ol olo s
<SS Bl i8>
wasbe pusll 5S>
>\ Loyae>] 558
o4,k s)lec 58 aSs

Salgi) 0,lps )3S>



15 325 - 930 0L i3y OloisLow - gy i - SLolspeo 5 YU - Linydl oS3

722 S\, - low 0lSeinyy Oloisbu = csils i gbles - plord Wbl - Kol

4 2>lg - 2058W, - (sle dozxo x> Ailsgls iz - (Lad EL ) Sy sbU OLls - (silpsol (89,0l WLL>

2 3>y Jgl asbs - 2318W, - )lail Sib wi - 5wy 0Ll Sopg; - Siem vbls

2 aib - 2855 350 SW - suxé s> 9 603 G - gsvgisr ol VUL - wgu Vlawe

19 a>lg -3 adub - 324 SW, - (sl ) osuse 188 s - pgw SIS (il - pw)loilres

16 a>lg «wlingy Vloasbuw (WliwinS )5 Sy, «Sypho VLLS Slpul

12 4>l « 3 @i 4 SV« (s0ra) x5S« wugix wsulps G ULLS ¢ Laole ULl

7 3>y o)l aiub (1173 SV, oslols uo gblai ¢ (susyuir 5S> ULLs>

2 3>y 55 SMy c0auc axgS «oswbld OLLS Sy, (ramds ULL>

7 3>lg p,lp> asds (1173 Sy slols jo gblas « sy s jiS> Wbl

36 SW, - pgw azgS G - b @y 0Ll Slawl - (swolyps Olhsly VLl - rasdy Sip

3 2>l - 194 o -esugi> s G - dbolsue lol

2 i -2951- SWy - 59 )l 5l VL - pasds OLLs

4 2>lg - 36 o -GS OLLs - L3l ,lel - S3gS Vlp> ol ,lp= 5l VL - g Olawe

905 1>l - pps Qb _ Olowl 2y - Sy ULLS - Sig Ulagwe

p3 Slad s (xS 350 5l YL Hie 700 (Jloois @ Lgix)es,liw

€ S axls - 1 SW - 0S80 oy o - Vlilae, OLLs - 03l) gy0le OLLS -ywid Olase 4 daw )i - (sisyud VLl - Olyps
14 351y -2 @b -106 SM, - (s 156 i = punlilrgs Jol asls 51 VL

6 a>lg - jlay ULog)l> o9 asub - (ale plol Axuno Spg) = 3Urw Ul - (ot Gaux0) (sdlocis Ly o> sbivwl WLLS - b, ol 3,5
B 39,9 - Loy Oloazbuw - 8ulis @bl - w)e wes,9 lols - wsix oS)liw

3 Qb - i SOl g9 adbs - (88, pylp= Ui - Uil 5l VL - (silpaol (88l ULl

73>lg - 58, - lap i azgS - sl pwlc @ 0auwyi = Sihasis Sliymo OLLS

wvgi> 2 b - 6SW - Ui By Sy Wl Wlgyls SYU - ipw 250 - 0iws 10 ,lpx - cswlbhwn b VLl - Sjgsm ULL>
3 2>l - 93SW, - 5p0 Ulp> (Soy9) = (8l (i VUL - Ul ey,

- B S39)9- suliw @bl - wye Gwgnyd Hlel - gixr oS low

4 a>lg « Jgl asb (17 SMy ¢ 03] 1p0 OIS} Oloisbw « Sadyo x9S ¢ spailnl Oliw,low Serg) « 9t0 Sl 5l A« sz WLl
Alx)li9 siglss - Azl W)l wsigle - ax)ls w)lie esilib KisS)l (Soy9) - lw Sidyaw OLLS - bil> oLl
Sod adub (52 SV« plex 9 pow A29S G ¢ seilS W)l Jilie bl OLL>

34 SW, - @V ol ylex 9 sl il Olawe Gus = (wvgic> edlis ) 02idgiy wsibrao VUL - Ul i

Jol @il - 3 SW, - (8010 az9S i - ilidlb 9 Ao Gus - osisab 5S> OLLS

(0P gy ©ya> Ao iz = S39S S, Soyg) - bowl Ju 5l A% - wilalS all el Jlgls - adslo Ol

3 3>lg - pg> Asub - 21 SV - (sugix ool OLLS - By Gwsd)9 Llols - adslo pg> asly

2 6,lois - (il UL Jgl - 335 U5 pusS WLl

1780 Ll axgS JiuimS phao VUL 51VL-(sulal,8 plio o8 OLLS

66 S, - Sykai > OLLS i - Vel OLLS - VMl obls

2 2>y - 2 asb - 5lul puii Olouslw - apw Sb i - pasdy OLLS - bypd

WSod adub-1790,locis = (88,0166 i -3l ol Hla= 51 VU - 51l Obls-gw, bl yps

£9> b - 9IS, - Ugiy; Vloisbuw - yigS Auwgo i = 9w Ulawo (88, wgi glo - sUl wslew

3 Qb 4 SMy ¢ (55,5 B) osye 216 G« ol o3 Je sl 35 ol « (wsix @y Jlosis ) (558U appiv Ol

180 SW, - 505 S50 5L i - pds;b WLl - LinS obls

- 168 o)lous - spoilyy OLLS Slawl - (susiz)S)S WLl - Ml Ol

431, - Jsl @b - cilo S5l Oloss L - 0yl s gyls i = ol (Slawl = Guadazeas olylpz - sUT wslew olls
25 S\, - csunt i Sl - osdlosds L5185 - LMl Ul

15 3515 2 @b - 325\, - (sdlad (smid OLLS - LT oy OLLs

P85> Qb -90 - Ul (58, Lgix &lo - pw, il sl asls

2028\, - 5,80 g gblai - plxy9 ,lels - Gw)liilres

59 Sy9005 OLL i -l ol Hlp 51 ammaiglos WLl

1 3>l - Jgl aids - 34SWy- (o3 ) 3,8 (S Jupid ax9S - 218 Olawo 51 YL - sUT wsleww

352 a>lg - 522 SY; - o5 oo OLL i - oS3k OLLS - By 0,05 (sdlos gl - lapis Olase

907.>ls -4 @inb-124 SM135 G - (38,196 WLl - 1oL 0l - uylilygs

1o -pSy Olow=,b G -pisd Ol - Ollaowly gbles 51 aey - 8 ale,d

Siha oo 5S>

S b, 5S>

wiboe Lo, i8>

oS a5 5S>

s)lec o,Lw iS>

Lo jmew iS>

ol Mg iS5

oixd> 500 3155p b ,iS>

sl 030> 0,p 0 HiS>

>l Bslo iS5

bl (soumy Bslo S>
S8 23y pwlie ,iSs
Saleo loyJle ;5S>
ol Lo jule 585
Obseis oswoils csmune i8>
oMol anbld iSs

wilas, 50,8 585

)9 0599 5S>
SSLUGI SAo0 ano HiS>
wilyoe )8l Loy doxo 18>
5,5 (Sago Joxo ,iS>
SSowghd s ye 5S>

Saa> axlo x>

5928 (slguis 00 ,iS>
PLw)d o5ui0 5S>
EVEWCAPN TSN
[ENVETNW IV

(5,82 Aoz ,iS3) 9408
P SailS

Olylps Sl

Sl Sads

Ugald naasi SpalS

Olypi caisls slp> SuiulS
Sl podisy Sels

o) SuinlS

S8l Sgwge 5S> SulS
345 Syl

spoiley Suiuds

PBA W SudS

03 Ulnl S50, il SpinlS
O 1559 Vo SuinlS
Vlg,Sk puyo 5S> Sie) Wl SuilS
A9 (S50, Ulod SplS
A0 S59) Bl SuilS

els Sl

ULS Sl

el dized Suls

shyile SundsS



5 SW, - ugiudp> OLLS - (sobld Ulauwe udle Suuds

Jol b - Olawl S5 Vol - (16)) plol ,E5L Jud - Whyls;50 ,lel & - osilpasl (sl OLLS Obl3550 Sails

3288\, - ppi 9 Wby> OLLS 5l as - Ol lw VLLs ; i

S5l 2l (sl8gd @iy - 15 0L Giuw - sUT awgy WLL> - (sobld Ulage

666 SW, « w)l Sk i « Olizglxo 9 Iap b @285 Lu ¢ Ao Ol 920l WLLS 1 2 (idno 33 axly ¢ puwleilps ULy Reixe « 34 SW ¢ Syalb s ¢ wxe 196 OLLS « g aSId uylilyps 11 o
2 a5y« Jgl adub « 21 Sy « Vlowl 25 wi> « auilo,d oly,lp>

oIlowlsd OlojLuw 59,00,769 4 Jlaoyi oow Wjlay VLLS-SUI g0 0839,9 bl oMl (S)9p0> S 508

3 asubb- 12 a>lg - 197 SW, - 20l (sde US36S Uliw,low wix - ab WLLs> (Niep) (sdiloo

Saac obls ol py)S ULl a5lad 098 (sSezuil s (naazs g9 S 0

16 15l - 4 @b - Luall 0l olaislo - Luall assS i - sbolsyo U 5l pYb- 03, E,15 Lugil iS5 e

P Uiy Oloasluw - (((lad ) 32 azeS i - wilwlS @l cul OLLs slpsil - p oMol s K55l 585 o

Jsl asbs - 35568, - (silallb azgS iz - lw Srpds - )l guls obls S92 0 S92amo ol ,iS> o

Jsl asb - 322 SW, - 03l3)laxg SIS G - (suye spslisS Llsh B0 S Vladw 8> o

1a>lg - 2 SW, -3/21 axgS - (siled 95w ple= OLLS - Sierm wb> 0505 doxo uowiw 5S> Libao

42 2>lg - el gy - ol lojLuw (S99, - osobld WLL> o3l; Q> punis ;iS5 iho

7 3>lg - p> aib - 208 SW, - oSwn b vz - awilkiali ohlpx 5l 5wl - il ULl - Jog> was Ul S Loyolle uSs o
Blo 22> plol zamio (S9509) = Spminosds OLLS - (sugiz sUleo 53150 > doxo ,iS> wibio

6 A>lg - 2 b - 2)ler0 25 - whdlo Sl i - (suxe 216 5l Az - wlilrei pgaw asld oty Lungo 538> o

oo Qb - 500 Sb SV - (08, e s - Gl 5l VL - (wlpaal (a8l 930S Sy iS> ko

20 a>lg - 2 @b - Hbyp WISy Vel - dupw 208 VU i - g 9 UMw G - Niglos VLl Sygol Olsbadl Goyuss 535 iao

9 a>ly -2 @b -21 SW - oaupw Uiy Olaisbu = vyl Oliw,low (S99 = csdlois iy VUL - Gw)liles VUL Srua) 488 Ao yiS> o
303 SW, - sugizr £93 S5i0 033l i = sgurpis 17 OLLS - sUI 5L lae o315 pusS >g ,iSs> Liho

Sod dirb -8I0SW, - oliw> 10)lp= - By Siomm 9 oo plol gblss - (Sio,m LLL> Saoxl =1 xSy o




